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Introductions :-
(1) A1l gquestions are compulsory.
2) Draw neat and labelled line diagram, wherever necessary.
Marks allotted to every question is indicated.
Question number 1 to 5 are objective type Question.
Question no. 06 to 17 each question carries 2 marks
(word limit 30 words)
(6) Question no. 18 to 20 each question carries 3 marks
(word limit 75 words)
(7) Question no. 21 to 23 each question carries 4 marks
(word limit 120 word

(2)
(3)
(4)
(5)
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i. Fe,05 + 2A1 = Al,03+2Fe
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Choose the correct option.
i. Fe,03 + 2A1 — A:|_203 + 2Fe
The above reaction is an example of

(a) combination reaction. (b) double displacement
reaction.
(c) decomposition reaction. (d) displacement reaction
ii. Food cans are coated with tin and not with zinc because
(a) zinc is costlier than tin. (b) zinc has a higher

melting point than tin.
(c¢) zinc is more reactive than tin. (d) zinc is less
reactive than tin.

iii. The breakdown of pyruvate to give carbon dioxide, water
and energy takes place in
(a) cytoplasm. (b) mitochondria.
(c) chloroplast. (d) nucleus.
iv. The brain is responsible for
(a) thinking. (b) For understanding
(c) balancing the body. (d) all of the above.
v. The anther contains
(a) sepals. (b) pistil.
(c) pollen grains. (d) ovules.
vi. Which of the following are environment-friendly

practices?

(a) Carrying cloth-bags to put purchases in while

shopping.

(b) Switching off unnecessary lights and fans.

(c) Walking to school instead of getting your mother to
drop you on her scooter.

(d) All of the above.

2. F=wl Fmvﬁaﬁﬁﬁﬁrql (1x6=6)
i. HHH(H(?W{HHQP#hH? ................ %l
ii. %ma‘rﬁmaﬁeﬁwwﬁﬁrw ............... FgATaT gl

1ii. HIH BIEEITT v ittt et et eeeeeeannn FgdTd gl
iv. S :=TOTEr G & e arer TE..o..... FgdATd Bl

v, OFaATH L. AT o AT I (AT FLdl 81
vi. AT TG AT qhal &A1 20 HelHeT g , TR Blhe g0

Fill in the blanks
i. Formula of marble is..
ii. Homogeneous mixture of two or more metal is called

iii. Saturated hydrocarbons are called.........

iv. Chemical secreted by endocrine glands are called
Ve e s . control the size of pupil in human eye.
vi. If the radius of curvature of a spherical mirror is

20cm, then its focal length will be..... .
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Write true or false.

i. Zinc and lead are more reactive than copper
ii. Ethane is a main component of biogas and CNG.
iii. Functional unit of kidney is nephron.
iv. All involuntary actions are controlled by the medulla
in the hind brain.
v. Voltmeter is used to measure electric current.
vi. The violet colour is deviated the most by the prism.
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Match the column
i. Tomato (a) -Cytokinine
ii. Normal blood pressure (b) - DNA
iii. Plant hormone (c) - Oxalic acid
iv. Magnetic effect of electric current (d) -20mm/80mm
v. Genetic material (e) Snell’s law
vi. Refraction (f) Orested
(g) Acetic acid
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Write answer one word /one sentences-
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ii.
iii.
iv.
V.

vi.

What is the common name of the compound CaOCl,?

Write theone function of blood platelets.

Write one example of inherited traits.

Which metal is used for making bulb filaments?
Which device is used for protecting the electric
circuit from short circuiting or overloading?
Write lens formula.
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Which gas is usually liberated when an acid reacts with

metal? How will you test for the presence of this gas?
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Four solutions A B C D, when tested with wuniversal
indicator showed pH as 1,11,7,9respectively.
whichsolution is-
(a) strongly alkaline (b) strongly acidic
(c) neutral (d) weakly alkaline
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What is neutralisation reaction? Give example.
AJET / OR
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Write the formula and two uses of baking soda.
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Write the structure of ethanoic acid and bromo-pentane.
AJET / OR
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Draw the electron dot structure of O, and CHg.
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Write any two difference between soap and detergent.
AJ4T / OR
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What is hydrogenation? Write its industrial application.
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Write the name and function of two plant hormones.
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Why are some patients of diabetes treated by giving
injections of insulin?
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How does binary fission differ from multiple fission?
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What is vegetative propagation? write its two advantage.
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2
How does the creation of variations in a species promote
survival?

AIET / OR
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A Study found that children with light-coloured eyes are
likely to have parents with light-coloured eyes. On this
basis, can we say anything about whether the 1light eye
colour trait is dominant or recessive? Why or why not?
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A ray of light travelling in air enters obliquely into
water. Does the light ray bend towards the normal or away
from the normal? Why?
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The refractive index of diamond is 2.42. What is the
meaning of this?
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On what factors does the resistance of a conductor
depend?
AYET / OR
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Write name and symbol of four component of electric

circuit.
15. WATHT T 978 g 9w ot 2
Write Fleming’s left hand rule.
FJAT / OR
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Write Maxwell’s corkscrew rule.
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2
The magnetic field in a given region is uniform. Draw a
diagram to represent it.
HIAT / OR
TR = a0 & AR A a0l &7 L@ru Q=0
Draw magnetic field lines around a bar magnet.
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What are trophic levels? Give an example of a food chain
and state the different trophic levels in it.
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What is biodegradable substances? Give example.
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What are amphoteric oxides? Write the example of two
amphoteric oxides.

AI4T / OR
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What are alloys? Write the name and composition of any
two alloy.
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Explain budding in hydra.
AIAT / OR
ToT T e Fe H AR = T
Draw a labelled diagram of the longitudinal section of a
flower.
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Draw a labelled diagram of human eye 3

AIAT / OR
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Why do stars twinkle?
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Write the balanced chemical equation for the following
reactions-

1) Hyd;ogen + Chlorine > Hydrggen chloride

2) Sodium + Water ey Sodium Hydroxide + Hydrogen

3) Calcium Oxide + Water Calcium Hydroxide +
Heat

feat Calcium Oxide+ Carbon dioxide
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What is exothermic and endothermic reaction? Give example
of each.
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Write any four differences between artery and veins.
AYET / OR
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Write any four differences between aerobic and anaerobic
respiration.
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Draw the diagram of refraction from rectangular glass
slab and write the laws of refraction.

4) Calcium Carbonate

AIqT/ OR
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. Whatis Power of lens? Write its unit.
. Write two uses of concave mirror.
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